THMSE2ATEE: REREFZEREH

FE125EF

TS FEE RBHT—HRIFHFTE

BX ~—
BN ERA BT PEEE B v po
K6 EMKEXE 11 BEXE 38 EFREED
| HEEEMEBERIBUENER  creerrrrrttttntntnanns p3

2 FRIBEMNFEH V2 — ZiBiLaEHE 72— MEFE

BB UIEREE rrrarrrrraartaarasntaassansssnrsnns P4
RS EHA
LHEE =

Sf54%E28



THSFEREEHIREPERE T (—REF)

[(REZEZER] (B F)
EOWR
X 1H B E- £ LT EEE KT weEHmet
gk i it
ggfg’k O EEE |03 EREEE TREEEEE (LABBW 3,583, 000 3,583, 000 - 141,000 2, 442, 000
TR RN E L L 2 —EER 300, 000 300, 000 - 300, 000 -
SRILBHELL 4 —EER 2,723,000 2,723,000 - - 2723 000
mEUEEEE 2,427,000 2,427,000 - - 2,427,000
03_mEERE it 9,033,000 9,033, 000 - 441,000 | 7,592,000
01 Mg it 9,033,000 9,033, 000 - (441,000 | 7,592,000
06 Ak KELE Hit 9,033, 000 9,033, 000 - (441,000 | 7,592,000
it 9,033, 000 9,033, 000 - (441,000 | 7,592,000

N

J

coO N oo O b~ ow DN



T ELE
, ¥ % 24 |3 HE&
R— 4 4| =] &S
6 1 3 FH
BREEEE (RS
202~207 | MBHK | MEE | BEEE® | 2-2 ;;;)EEE(% 3, 583
EXE
6 1 3 s . FH
202~207 | MBHK | MEE | BEREE | 2-6 fﬁ;ﬁ;ﬁgﬁmt/ 300
EXR =
6 1 3 FH
=t S h—
202~207 | BMK | BEXE | BRRAE | 27 éf;tnﬂmﬂ;t/a 2, 723
EXR =
6 1 3 FH
202~207 | EBHIK BEE EXREE | 2-8 NFEEEEEER 2,427
EX®

1 TRERE NERRUERER

*

ERFKsINHVERE
HESA : 1154 A8
mEiE : 3,120 m

—ETREE

FEFA : TR 13E4 A
mfE 11,107 m
FUWmREER
FHESA : BM52F4A
mfE 11,927 m

FLA
KA BT

=SETREE
FEER : BA58 £ 4 A
miE 4,176 m

BT




2 FRBEHNEEEE S—-SRIEBHEL 2— OFPE MERRURREE

|

-F‘

N EEkEmeHst s —
oy f (Ei,ﬁj(:FIBT)

BEMEE 2 —)
(REHET)

mEFE (F

Al J s

1O | rmasnm ; | BB E AL 2 8 —

B (7535287

@ | =uasnm L

(5%)
A A
55 IR
H30 4FE | RITERE | R2ERE | R34

EglHEtL > 42— FFN56 %3 A 2,898 3,535 1,850 1,076

mEPE (FEEEttto2—) | ETRISE3A 9,975 9,233 1,719 1,842

HHBEAEE e 2 — ERRI165ETA 1,615 524 515 390




